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LU06.503 - Events - mouseclick and mouseover

LU06.S03 - Events - mouseclick and

mouseover

Code-Solution

Codesolution

Assignments

1. Take the solution from the previous assignment
1u06.s03.html

2. Add another button +2 Moose which counts up
@click.right=....

and name it correctly including the <h1>:

by step-size 2, but use this time the event

3. Add another button -2 Moose which counts down by step-size 2, and use this thime the event

@click.left=....

4. Add finally a mouseover event to the image by using the event v-on:mouseover: it resets the

counter when the mouse moves over the image

<!DOCTYPE html>

Lu06.A03: Moose Management Count with
using various events

]

hl:Lud6.A83: Moose Management Count with by using various events</hl

div

p

html
head
title:-Count Moose: /title
style
border: dashed black 1px; e
i : 488px;
padding: 28px;
loex;
style
head
body

! rement/decrement with step size
P
b>Simple Mouse-click: </b

Simple Mouse-click: [ +1 Moos

button v-on:click="count++">+1 Moos< /button: &nbsp;

i [Mouse clickright and clicklcft : | +2 Moose | | -2 Moose [> | |

button v-on:click="count--">-1 moose</button: &nbsp;
]

H Increment/decrement with step size 2

p

b Mouse click.right and click.left : o

button @click.right="count+=2">+2 Moose< /button:> Bnbsp;
button @click.lefte"count-=2">=2 Moose</button>>
=]

i Simple Mouse-click: | +5 Moose | [ -5Moose|
{ Simple Mouse-click: | +10 Moose | | -10 Moose
| Simple Mouse-click: [Rsssl

é Moose count: 0

I-- Increment/decrement with
b>Simple Mouse-click: </b
button v-on:clicks"count+=5">+5 Moose</button> &nbsp;
button v-on:click="count-=5":-5 Moose</button> &nbsp;
P

step size 5 -- P

] crement/decrement with step size 1@
p
b>Simple Mouse-click: b

button v-on:click="count+=18">+10 Moose </button: &nbsp;
button v-on:click="count-=18">-1@ Moose < /button: &nbsp;
[=]

Reset-Button -->
p

b>Simple Mouse-click: </b
button v-on:click="count=@">Reset
2

button:> &nbsp;

pr{{ "Moose count: " + count }}</p
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Lu06.A03: Moose Management Count
with by using various events

Mouseover the image resets the counter

Simple Mouse-click: | +1 Moos | | -1 moose

Mouse click.right and click.left 1 +2 Mocse | | <2 Moose =

Simple Mouse-click: | +5 Moosa -5 Moose
Simple Mouse-click: | +10 Moose | | -10 Moose
Simple Mouse-click: | Resot

Moose count: 0

Vocabulary

English |German
step-size|Schrittweite
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